& $) ¥ ¥ (Fourier Series) f§ 4

BAA L P A Y S 3k (periodic function)
FoB Q)T FRIDF 2H 2 G hr BLEP @ EF fx+p)=f(X) > #57F chxas = o
PIFET() 5 8 sofie o 2t 0 e P 5 Sl f(X) ik 8 (period) »
- AL Pdpdo] Ak o blde SN ik e 2nodns6na8me o o o B HBH L 2ne
Sin2x eiFp So#cF no2n~3ne - - o F o HFH Lo
R s S ()2 g0 # P Bl as f(x)+b « g(x) e+ cha ek~ L Po
az bi ¥
4o Sinx £ Cosx P $74_2n > R Sinx+Cosx i+ 4 7™ & 2m e
Sin2x &2 Cos2x ¥ # 48 &_m > A Sin2x+Cos2x i+ 7 & m°
A AE A2 AR ARG A % BTV S BRES S o RE ).

- ﬂ;?t—ﬁyﬁ \L’i»‘yﬁ;t'&[*ex ’ SinX ’ 11 ¥ O* ’; IE j\: Jlgtj\% T o
—X
X X2 3 X4 l 2 3 4 ok
dref =1+ o+ p— R G D S F X <1
r 2 3 4 1-x

N ENGFPRBIOREKERT e =a, +ax+a,x’ +ax’ +a,x"....

8, @ &, a5 Agenennns CENE S 3
%xﬁ Sdic(Toylor’s series) B B 3¢ (Miz— i ¢ w2z BRE)
Power series ¥&#c

e =a, +a,X+a,x> +ax>+a,x ... (1Ehbx=05%°¢ <E®)
2 4

e =a,+a,(x-0)+a,(x-0)* +a,(x-0)° +a,(x-0)"....... (gx=0357 v BR

e =a,+a,(x-a)+a,(x—a)’ +a,(x-a)’ +a,(x—a)...... (mgbx=as® <ER) ERES S

(D4 x=0 & » @ e’=a=1

Q&M - %15 > B4 x=0 & » #e= (1) (@) =l—oar= %
G hfcs = 15 > B4 x=0 & » #e= (1) (@) =l—oar= %
2 3 4
w7 F P e* :l+§+x—+x—+x— ..........
23 g

f)=f(x+p) p 528 (£S5 B) > b & pof(X)nEHh p
Sinx=Sin (x+2n) =Sin (x+4n) =Sin (x+6m) =Sin (x+8n)

Sinx » Cosx—21=P

Tanx » Conx—n=P

% 1 i1

; tép‘_té]! [wi]: I') x=0 Ef[1-=

(Maclaurin’s series) Fiphi <

H g




xS % = & Sdk (Trigonometic Series) % 4 57 o Wik S i 2m ik S f(X)

Al f(x)=a, + (a, cosx+b,sinx) + (a, cosx+b,sinx) +

2B * f(X)=4a, +i(an cosnx+ b, sinnx)
n=1
2 g, (FHI9E): a8, a apnn % Cosx an e ik bbby by, % Sinx S0 fiof % ik

238 GECRE O N
171

1 : =—| f(x)dx

(D&t a=—[ (9

Fa: fﬂ f(X)dx = fﬂ a,dx + ifﬂ (a, cosnx + b, sinnx)dx
n=1

:Zﬂtao

J:f(x)dx:Z;raﬂ : v’%."!aozéfﬂf(x)dx (Ri2 X nsf L)

> a, -b,
=a,|". +Z{”sm n>4 ¥ +—"00osnX
n1 (N n

(2) & a, :lr f(X)cosnxdx @ n=1.2.3......
72' -

Rk f(X)=a, +i(an cosnx + b, sinnx)

n=1

F 3+ cosmx @ f(x)cosmx = a,cosmx + Y (&, Cosnxcosmx + b, sin nxcosmx)
n=1

7 T L en .
.[ f (X)cosmxdx = .[ a,c0smxdx + Z.[ (a, cosnxcosmx + b, sin nxcosmx)dx
T - =1 -

=isinmxfﬂ+z<<5r ( cos(nx + MX) + cos(NX — MX))
m = 2

b, (= . .
+?”'[_ (sin(nx+ mx) +sin(nx—mx)J ) dx
=0+ar7r+0=a7r > #Ma, =£J‘” f (x) cosnxdx
ﬂ /4

(3) byt b, ==[ f(sinmxdx & n=123......
Vi
by Fi2 b a, &% > Bk sSinmx o ord b, :lr f (x) sin nxdx
72' -

G AR a5 (Euler Formula)
B 2m 2. 3k 3P S0 e f(x) en i 41 8 s dic (Fourier Series)

a a, +§:(an cosnx+ b, Sinnx) £ 5 & 5 £}

n=1

% 1 52

’ T
%F‘_té]g [u2]: _LT COS(nX ’

= .[:, 1dx = 2x




BIAL ¢ ¢ ) Sl f(X) T/ AT

=247 —r<x<0
F00 = s an poan

#F#- AL f(x) % = Fourier Series B.éﬁﬂql—£+1—£+ ....... =T
3 5 7 4
ffig : &‘;ﬁ'{]ﬁ‘]ﬂ}‘&r—f :
A
2
........... 1
LT R L 3
-2
«—Y
B2 ©

Bl ol HALR R -
(1) Ha: -] f(x)dx:i[j0 (—2)dx+.[”(2)dx} -l lors2r]=0
21 = 2 L= 0 27
C oo 110 h
(2) &a: a,= ;[ L (-2 cosnxdx+_|'0 2 cosnxdx]

1{—2.
=—|—9SNnnx
T n

‘3”+25innxg}:0

n

(3) f by Q1=4£[IO(—2)§nnxdx+Jw(2)§nnxdx}
T - 0

1{2 {0 -2
=—| —Cosn 7ﬂ+fCOSHX
n

2} 2 [cosO— cos(—nz) — cos(nz) + cosO)] = 2 [2— 2cosnz]
7|n nz nz

W& ¥ n=d &KPF cosnm=-1- by= £[4]:£ n=1.3.5.....
nrw nr

% n=ib #&pF  cosnn=1 > b= ni[O]:O
n

GRADFH)= ) (8)SinnX:8(smx+sm3x+sm5x+sm7x+ J
n-1ss. N7 z\ 1 3 5 7

T 8(1 1 1 1
5 X=— 2=—|-D+=C-D+=QO+=(C-D+......
% 5 ﬂl()S()S()7() J
z 1 1 1 1
e SR S
4 1 3 5 7

4] 5 He-3



18 S dgc(even function) f(x)=f(-x) + bl4e @ y=f(X)=X>% y=cosx 7%t y firi §44i

#® S (odd function) f(x)=-f(-x) > b4 @ y=f(X)=x 2 y=sinx B3} X fih ik

cosX ﬂ SinX % & Snfic

i xEfT %?f 1=
X=-a X=a

ex: f()=|Xmm <X<70P=21

mrim=in > Arh=i > Ariz=d

wn o

(1) #f(x)5 & 38n b=0

i

f(x)=a,+)_(a, cosnx+b, sinnx)
n=1
1 .
bn:—J' f (x)sinnxdx =0
7[ -

1 1., o
8= j f(X)dx = (g)(Z).[O f (X)dx

a, =" () cosmxix= (1)) f (x) cosmax
T T 0

(1) % () % # & #h] a=0 > &=0

b, == [ t(ysinmxax= (D)@ f () sinmax
i T 0

periodic function f(x) and period P=2xn

= f(X)=a, +Z(an cosnx+ b, sinnx) iscall Fourier series of f(x)

n=1
1 T

%:?, fOYAX.oonnes (1
7[ T
1 T

an:—j f (X)cosnxdx......... 2)
7[ -
1~ .

bn:—j fO)sinnxdx.......... 3)
7[ -

.................................... (1)..(2).. (378 A Fourier. Series Cofficients( % 11 ¥ 4 #)

% A -4




TEY PEE 8D (P - =4 2n) 0 Bl f(X)2 Fourier Series?

Let x:ﬁt: upper limit :g Lower limit :—g
P
p p _t = 21
When x=-7=>t=-— X=r=>t=—"=>—="—=Xx=—t
2 2 x Pp p
2

Let L= g =helf period L is any positive number
F0=a,+>(a, cosnTﬂx+bnsinnT”x) P=2L
n=1

. L L L oL n . n
(1) fa: I_L f(x)dx:J‘_Laodx+nZ:;J‘_L(an oosTﬂx+ bnsmTﬂx)dx:ZLao

1
AT aoziif(x)dx

(2) #a: F3Fk_+ cos m 7

X

mrz mr S mrz . mrz
f(x) COS== X =8, 005~ — X+ D la, COSNXCOS—— X + b, sin NXCOS =~ X
n=1

J- (co (nx+ mx) c(nx—mx)

2 a, (m+n)7r JL _a )
22{(m+n),, N _L+2L}—(2)(2L) —al

n=1
- 1 nz
B 1l a, = LJ:L f (X)cos . xdx
(3) Fby: iz ag Ri
. 1l . N
BT 14 b, _ELf(X)smedx
If f(x) have period P=2L and L is any positive number then

f(x) = a0+2(an cos—x+b sm—x)
n=1
a, :sz(x)dx
:%J:LLf(x)cosnTﬂxdx n=123......

1 . Nz B
=ELf(X)SInTxdx n=1.23......

% 1 545

) dX}

s ot (nx—rm
oA [u3): Lcosi

2L.when.m=n




N0(s *+)

A period function whose definition in one period is f(t) = 35in%+55in37zt

-2<t<2 P=2-(-2)=4 Find thefourier Series of f(x)

Solution @ f(t)=a, +il(an oosn—ft +b, sinnTﬂt) and fourier coefficients asfollow

%] % f(t) isodd function (& k)
. = . nm
“11 Wewrite f(t)=) b sin—t
(t) Zl h SN
and b, = (3sinZt+5sin3nt)(sin o t)al
-2 2 2
_1 jz Ssinztsinn—”tdw.[z 5sin3atsin "~ tdt
272772 2 -2 2
2131 cos(ue ) Zt - cost-m) Zt fdt+ [ | cos(3+ D)t - cos(3 - Dyt [t
2| 2k 2 2 242 2 2
& 32 T,
# n=1 B?‘r—Ejizcos(l—n)Etdt_6.....b1
& o -5p2 n _
# n=6 ;@v? Jizcos(B—E)mdt_lO.....bs

b= %{6+10}:3+ 5=b;+bs

st £ (1) =ansinn7ﬂt:35in%+55in3m

90( 5 %)

Consider the two 2zn-periodic function as define below
F(x)=x for -n<x<n

G(x)=x* for -n<x<n

Let S;(x) denotethe Fourier Seriesof f(x).Then S, (x) can be expressed as

S, (%) =i%(—1)“+lsin X

n=1

(a) Determinethevalumeof S, (1) and S, (r)

(b) Let Sg(x):A]Jri(A]cosnXJansinnx) Findthevaluesof A, > A, > B
n-1

Sol :
(a) X fist-n<x<m 2 B R f(X)2 %3 x 2 &

Si(M=1




S, (r)=0 v ol T M 3

v
(b) g(x) 5 & 3 ¥
A, :%(2)j:x2dx:$x3 . =”—32
A =%(2).[; x? cosSxdx:fﬁﬂ . =%

B, = 3(2)[” x?sin5xdx = 0
T 0

\ 4

1r 2 3
O S O G
1 2 3 4

o ox?ixd oxt
e =1l+iXx———-——+——..
2 3 4
Z=a+hbi (a:red patg %) (b: Inaginary part & %)
2 4 6 3 5 7
e*=(1 XX X, )+i(x—X—+X——X—+
2 4 6 3 5 7
e =CcosX+iSiNX............... (1) & €°=cosf+ising
e =cos(—x) +isn(=x) ....... 2)
€™ =cosX—iSnNX............ 3)
(D)+(3) €*+e™ =2cosx=> cosx= €+e
ix —ix e : ix_e—ix
(D)-(3) e*-e™*=2isnx=snx= >
i

f(X)=a, +i(an cosnT”x+bnsinnT”x) for p=2L

n=1

A 7

RO LA



f(x)=a,+)_(a,cosnx+b,sinnx) for p=2n—L=n

n=1
. ein>< + e—inx .
8, ¥COSNX = —————* @ ..ot
2
. X —e™ ie* —je™
q*snnx:——ig——*hj=———75——*Q .....

—inx

(D+(2) a,cosnx+b,sin nx:%einx a, —ibn)+%e

(a, +ib,)

#7120 f(X) =a, +i[; (a, —ib,)e™ +%(an + ibn)e‘i"x}

1 .

£ —(a, —ib )=Cn
5 (@ -ib)
1 .
—(a, +ib.)=Kn
5 (@ +ib)

Bl f(X)=a,+ i[cneinx " Kne—inx]

el f1c o
7 Cn—z(an ib,) 2Ljﬂ[f(x)cosnx |f(x)smnx]dx}

1l
T

-

1 (= i
=—| f(x)e™dx
2r L’ 9

C-n=Kn
f(x)=a,+ Y Cne™+> C—ne™ n=1.
= f(x)= iCne‘"x
1 —inx
Cn=—/| f(x)e"™dx n=0.+1+2...
21 =

Compiex form of Fourier Series
EELEY sk

1 cL LAY
Ch=—/| f(X)e ' dx
2L

f (X)[cosnx —i sinnxJdx

23.....

& 41¥ # 4 (Fourier Integrals)

— 4%+ 2E 18 87 S0 (non periodic function)

<>

A 4

A

i 4] 5 -8



FTE G 2400 A=

»
P

A
A 4

v

A

A
A 4

AW S 24w
— F 3844 4 (Inproper Integrals)
We can define the periodic function in|Figs.laand Ib by

X<l
F (X) {o ALX[CLAA weeniiiiie e D
Where A isthe distance between pulses. Then the period of F,(X)is A +2

.50 half the period is 1+ % .Since F, (x)iseven.it hasaFourier cosine Series with

4 2 nnx
a,=——| fl(x)cos(de
n o 2
Av2 1+

cos(znﬂx + Zjdx
A +27

Since F,(x)=00n 1<|x<1+4.Hence

4 (2+/1)sm[ ’72 /l)} zsin(Znnj N20

" a42 onrx Nt \A+2
and
4
&2
Thus
231 2nr 2nnzx
Fl(x)=—+ Znoos(—) (7) ............... )
n=1

Now set t, = 2”%1 +2) and observethat At=t, 6 —t = 2%1 +2) for n=0.1.2.3...Hence(2) can be

rewritten as

Fﬂ(x)zg ﬂzsr:(t 2) COS(t )AL oo 3)

n=1 n

If we take the limit of theright side of (3) as 4 — o ,and notethat At — 0
,we obtain

% 41 549



IlmF (x) = lim Z r;( )COS(t XA e 4)

At—o
ﬂ n

since the first term on the right side of (3) vanishes. The right side of (4) defines an (improper) definite
integral where the integrand is evaluated at the left endpoint of the nterval [t ,t,,,] of length At.
Hence

o . 2 (= sintcos(tx)

F(x)—lemFi(x)—AIJ_rDC;J‘Ofdt .................. )

Thus, if this procedure holds, we have represented F(x)(the functionin Fig. 1c) as an improper
integral(5).
We now adapt the procedure in Exampie 1 to an arbitrary periodic function F, of period 2A. Assume
F,(x) can berepresented by a Fourier Series

N7zx
F (x)—2+2[ancosl+b sunl} .................... (6)
where
1 nzx
a, = EL f(x) COST (0 ) (7)
and
1 .
:Efﬂf(x)sm%dx ................................. (7)

Substitute  t, =, and observethat At =t,,, —t, =7/, in (6) and (7) to obtain

F,(x) = % [F. (x)dx+%i[cos(tnx) [ F.(costt,uadu+sing, )| F, (x)sin(tnu)du}At

If welet A - «o,then At - 0 and we have

. .1 1. ks 2
F(x) = limF, (x) = mﬁjﬂ F, (x)o|x+;m(nz:;<<cos(tnx)LZ F, (x) cos(t, u)du

+s n(tnx)J: F,(x)sin(t,u)du) dt)...(9)

j:\ F X <00 e (10)

that is.if F(x) isabsolutely integrable on R, then the first in (9) is zero and

F(x)= % .f: [costx f; F (u) cos(tu)du +sin txJ‘: F(u)s n(tu)du}dt

This may be rewritten in the form

F(x) = % [ A costx+ BEO SO ... (11)

% 41 % #c-10



where

At) = J'i F (u) costudu

B(t) = [ F(u)sintudu

bR -
|x<1
F(X) = {0 x>0

sol @ At) = f F (u) costxdx
-1 1 0
=.|: X costxdx + Lxcostxdx+ L X costxdx

= *sintx fl—r L ntxax = (1sint —_1sin(—1)tj Jrizcostx‘fl
t -1t t t t

=0+ tiz(cost — cos(—1)t)=0
B(t) = | F(u)sintxdx
-1 . 1 . 0 .
=j xsmtxdx+j xsmtxdx+j xsintxdx
_o -1 1

=X 1 (-1 _ (1 1 1. .1
—Tcostx o LTcostxdx— (tcost+tcos( Dt +t75‘”t>471

—2cost  2sint
+
t t?
F( )_7-[ [ 2tcost+25|nt—‘ Nt :7-[[ tcost+smt—| sintet

2 =+ (90)
prove that IWWdW:O...x<O
0 1+w
E...X:O
2
e . x>0
0...x<0
F(X) { x>0

F(x) = % [["[A) costx+ Bt sintet

At) = f; F (u) costxdx = Iiﬂe’x costxadx

& 11



— X

e . " T
= 2(—coswx+wsmvvx)‘0 = -
1+w 1+w
0 = X W
B(t)=| F(u)sintxdx=| me*sintxdx =n —SINWX— WCOSWX) & =
® .[-m ) J.—:x) 1+w2( jo 1+ w2
“511 F (%) =£J‘w7f oosxw+wzsmvvx dw:Jm cosxw+w25|nvvx dw
0 1+ o 0 1+

O+m

¥ x<0 pF F(x)=0 » x>0 % f(X) = 7& ™ » x=0 F&  (X) = =%

¥ %8 (Power Series)
Sonlck chmh AR fradcs - REsl HA50 5

jud

C, +C(X—a)+C,(x—a)® +c(x—a)’ +c,(x—a).....

# ¥ ¢,,C,Ch,Cq,Chnnnn L% Bk v ik #ic (Coefficients) »a~= 5 # 8k > ' fa® « (center)» X 4
R W ¥ Fody - B3 k& FF (Convergenceinterval ) » »* H /i x=a iz * < > » R
BF- B : R B R e ac® /& (rediusof convergence) -

X
X

= @l

Example :
Fadi 1+x+x2+xX3+x' CBrarR R |x|<1
How to determine the redics of convergence R ?  (4rfe & Tz ac L i5)

@ £=lim|[C] #¢C,» Cpus Fmteninse

% 41§ 5 8c-12



1 .. |C
2) = =lim—mt
2 R

m-ol C

R¥i 205 oo § Uk

Example : i+ 7 5| f s ez Jeard & R

(D) 1+x+x*+x°+x =)' x" s o0l %:Iim%:l ~R=1 T|{<R=1
~ Mmoo
1
2 3 4 0 n |
@ 1 XX XX X Rew s sl Lo @Y i Lo L R-w
1 2 3 4 “nl R mo 1 | mosn+]
n!
3 !
(3) L+ @Wx+ @)% + @)%+ (@x* =S (1 )x" + 5ol == 1im im0
= R mx nl m—>o
L R=0
¥ Rchodcr 7T B a5 0 blde
2 3 4
R TN I I |x|<1 ce =l Xy X X X ERES TR
1-x r 2 3 4
x x* X x2 x* x®
SINX=X——+———+ ... v cosX=1l-"—+-————+..........
3 5 7 22 4 6

2 & ¥ 245 (analytic)
- BaEfX) 2T S Feada N (R0) T

f(X)=Cy+C(Xx—a)+C,(Xx—a)® +cy(x—a)’ +c,(x—a)’.......

gt S dic F(X) 0 st R x=a w fET e
B A2 AES Y+ QY +g(y=r(X) ¢ » # G f(X),0(X)1(X) & x=a ¥ fEi7 > B13% 5 AR5
- BRYX) e x=as TR o FedkfRi o g

e de DE h(X)y"+ f(X)Y' +9(Qy=r(x)......... (A)
(D)3 Bch(x), f(X),g(x),r(x) i = ¥k
()Y )Y+ )Y =) e, (B)

H P Cy,CLC, o A kK
Q-y s Yy Y,y & »(B)N P o BB iE T E

Ko + K X+ KyX? + KoXP + e =0
2P Ky, KKy Ka e & 7 A TIEHC,,CLC,, Coprnnrrnnnnn.

@3 F X Bheim o 1SS 2 R

% 41§ 5 8c-13



k,=0

k1:O Lk s L 12 N .

K -0 T el 258 P > TR C.,CLC,,Copennnen
, =

SR Y =C + O X+ CXT + CXe

Example : f2y'-y=0

Y =Cy + C X+ X2+ CoX° + s

sol &k HfE RSN
Y =€, + 26, X+ 30, X% + v,
(¢, —Cy) +(2¢, — €)X+ (3¢, — C,)X* + (4C, —C)X° + oevnee. =0
G =G
¢ -G =0 %=Eq=1%
2 2
c,-¢=0 1 1
, ) e " c
f5’c3—czig »%?Coﬁli,&#ﬁi’ﬁ*;«“cs:écooizg‘?
N o 1o 11 %
U 40 32 4
U
r 2 43 y4
AL Y =Col I+ X s
| 2 3 4
=.Y.=.Coe

R iz (F* 2 x=07 ¥ f245 ) * # Frobenius Method
Aipe wDE Y+ (XY +g(X)y=r(x) > % f(X),9(X),r(x) & x=0 ¥ 347 > B|¥ K H 3

Y =Cy + C X+ X2 +CoX> H e,

R - B R A S A 3 Gl x=0 AR T RS 0 de
X2y +xy' + (x> =v¥)y=0

e P

Bessel’s equation

BRIy Sy
X

How toslove X°y"+ xf (X)y'+g(x)y=0
I A AEXTY X ()Y +9()y=0 > Ff(X) 0 gx) & x=07 j2#45 > pIL > - fEF B

ey ;‘-7;31}5“ :
y=x’(co+clx+czx2+csx3+ ............. ) 2c,#0

& 1 14



Frobenius Method : fz48# E
(U)F £#(x) » gX)B B =+ Fsdge -

QB 2 infE s y= x’(co+clx+czx2 +C X F e ) 1 ¢, #0
H?r,60,C,Cp, Cournnnnn FR NS

(CE A AR F R -5 A
o)X+ ()X ™+ (L)X =0

(@)% x" X" 2 AT s 00 FEP| - el 2N o KN - Bl AR
Fo® rP+ar+b=0......... 4pF = #25% (indicial equation)

fE=x > A2 0 T
S5)* r=rpfor=rp i » Bopchitific f258 ¢ o FIEAfE o
(

o

- 020 y=x(Co + X+ X2+ CX® e

¥R Y3 AT AR HAT
Casel 1, #r,,I,—r, = &k
Bor=rg o fhde f2N P 0 PR A - 2 18K C,,CLCh, Chunnnnnnn

y — X'1 (CO +01X+ (:2)(2 + (:3X3 F o )
*orar o Gl BN Y 0 TR - e i4dice, ,C,Cp 1Cq .

Ly= X" (Co* + cl*x+ (:Z*X2 + Cs* X3 F e, )

PRz i3 y(X)=Ay,+By, A ~ B3 iEq faik
Case2 r, =,
Fr=r=r, o~ Gl AR P o T RN - 2 % ¥ Cy,CLCh, Chunnnn

Y = X5 (Cy + C XA C X CoX v )

FofE oy r REEE RS

£ oy,=u-y. ru=Yz Aly,=u"-y, +u-y

? 2 1 y N 2 1 1
1

y’z’:u”.y1+u’.yl’+u.yi'jl:%—%ﬁii\lc’ v fR A

U=InX+ KX+ K, X2+ KoX3 + oo

Y, =y = Yy In X X5 (A X AXE 4 AXE )

PlR s 2 i 2 y= Ay, + By,
Case3 r1¢r2,rl—r2=§fﬁc(ﬁ%rl>r2)
Forarg o e f2N ¢ o PRS- B 8C),CLCh, Chunnnnne

& 4 515



sy =x" (c0 FC X+ CX2 + X H . )
FofE oyt FEELERL Ly, =uy,
2 y2=uyl=kyllnx+x’2(A)+A1x+A2x2+A3x3+ ............. )

PRS2 3 Y= AY, +BY,

Example: f& xy"+(x? +3—56)y=0
Sol Assume # fiz y(x)=>» C x™" » C,#0
m=0

Ply' = (M+r)C x™ » y" =" (m+r)(m+r -1)C, x™"?
m=0 m=0

oA,

o0 5 o0
X2 (m+r)(m+r=1)C_x™"2 + (x® +— C x™ =0
Z( X )Con ( 36)’); m

m=0

LY ¥

F(r =)coX" + (1)(r +Dex™ + (r +D(r + 2)C, X + oo+ (r +8)(r + =D X" +.........

5 r 5 r+1
—CX +%c1x +—CX T4+ —CX T+ =0

36 36

PO , 5
£ X Fenial: R o fﬂr(r+1)co+%cozo 1 ¢, %0

57'7|'2—r+3—56:0 ......... Indical Equatiob (:}‘E,T‘F“’ #25%)
5 1
“fir=— > = (Belengtocasel)
36 6 g
BT XX X LR GHLF 0 W AT e

(r+2)(r+Drc, +c, +?%C2 =0
v b (A)

=0

S

5
r+s)(r+s-1rc,+—c
(r+s)( )rc, %

U

% 41§ 5 8c-16



B Hc & = #2374 (Partial Differential Equations)

FIR A 2T ke R SRR F e S AR A o A AR R PRSI % 2 i

P s AN A A AR > - L AEEBERTEI TS BN a R EAGE
2 Bk (Bde: - B3) ¥ R > 258 (A4 PDE)» bl4e®2,ch 7 ~ T8~ i
B2 583 4P 2WiT FHEIHADBELE - AFRITPDEDRAARAN S » Risr %
A dpizpe st Bl BRE- 21§ Lo PDE . § A% miZtslt PDE S 8k
BT (B4e: 5 UL ARG T F3 ) A REBEET - Fla 2t /182 PP - A
PDE & % #c > tc T & & ¢ ﬁfrkaﬁ%mdﬁﬁt PDEz 22 2 H g% o
A > AR A (concepts of PDE)
PDEehfhd &4 27 - B - Bt p Filic2 Sfieeh- B - B B TEd2 250
FE 5 WA S AT

6 u xyazu uMiuroxz oo

8x oxoy oy
HY ou= (X,y) 5 X,yeddco BpF~ 5~ A2 2| Er4eT
Li3 l“b%%l@:'rﬁf’h A5 4 PDE 2 1§ (order) - @ % 1§ ifh Fdiceh= > 4 5 4 PDE eh=k

(degree) - + % 5 - 14— =< PDE -
25 -39 ¥ g S § W EHY G- S AL AL PDE B ARG AU o ¥ NG 2t

G 4o

- PDE -
345 -y SR H bR HY o fL5 A= PDE 3RS 2= PDE- 1 % 5 =
PDE -
142t ¥ BendRE - p2 PDE :
2 2
S apee s 090U
ot OX
. ou o%u
- amdEo s o Mol
! ot ox?
o%u  d%u
= ' Laplace * #2353 +2 =0
» ! x> oy?
- & Poisson & #g.;\ o%u i f(x,Y)
o ! Py oy®
o’u 0%u o

‘& Laplace & #2.5%

I

' ax2+6y +?_

HY CH 4B tLPER A Xy 258 A
H 4y 5 8= PDE -
One-Dimension Wave Equation : ( - Lk # > f23%)
2 PDE eh= ;2 4 :

& Poisson = #2358 4 28 = 3 420

—t‘S

# 5 17



1] Bk
24 | 0

NI Frrass
ARBY L

"1 SRR

X
x=0 e
L=3z £

SR o°u_ , 0%
EETH R o c? oz
S (1 (BC).vvn (0,)... (1)

IR ou
B FIEFU(X,0).....en u(x,0) = f (X)"'E\t:o

4% Sl u ( I_t)>
ERFET (0 Ehiet 2 pFE)

EL- =g (0 L2/)
Solution : u(x,t)=F(x)* G(t)

2
ngp.é
Assume B ot “w MEGE# > f235%)
u_ o,
Y -F"G
oX

F-G=C2.F"-G

> 0. AP

Gty F"(x
C3G(t) F(x)

=T E= ) ¥ f=ke=0

i
¥ k<OPEA § § Ef2E > £ k=P

obtain

%:—P2:>G'+(CP)2G=O ............ (2

4 (1)7* D?+P?=0....D =+ pi (£ # & 19)
il 2 F(X) = Acos px+bsin px.. & B.C(z 7 % #%)
D*+(CP)*=0
G(t) =C" cospt+ Dsin pt.. < |.C(p* 7 % #k)

% 41 5 8c-18
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u(0,t) =0= F(0) = AcosO+ Bsion0=0= A=0

L4 % EBC
K {u(l,t)=0:>F(I):>AcospI+Bsian=0:>Bsinp|=0

B 0.ifisnpl =0= pl =mr = m=123...= p:?(m )
S FL(X) = Bsinml—ﬂxj m=123........
FL (%) = Bsinlﬂ
F,(X) = Bsinlﬁ

Fu(x) = Bsin?’llX

u(x,t)=Fx)*G(t)
%:FG:F-G\I:O:o:G\t:O:o

* G=C"-CP(-sinpt)+D-CPcospt
t=0 * ~» CP0+D-CP-1=0=D=0

~G,(x)=C" cosml—ﬂX =>m=123.....

G,(t)=C" coslE

G,(t)=C" ooslﬁ

G,(t)=C" coslﬁ
FUPHLELMES 2B BC2 16 1.Cafz
u,(x,t)=F.(x)-G,(t) = {Bsinmlm(}{c* oosnTﬂ =>m=123.....

max  C.nt

:um(x,t)=E~sin|—cos =>m=123.....

~1C u(x0) = f(¥).# f(x) = E~sinm|—ﬂx~1

E=—10 L yuepaed

% 41 5 8c-19



u,(xt) = E-sinlﬂcoslﬂ.
u,(x,t) = E-sinl—zmcoszl—m.

us(x,t) = E~sin3|—ﬂxcos3lit.

o°u _ ,0%U
o ot
&4 3 (Superposition principle)
F Uk (D e 3

U & (D5t ehy - 2

o%u; . o%u,

el @)

o’u, _ 0%, 3)

e PV ARTE
o? 0?

(2)+(3) ?(ul + uz) = C2 a?(ul + U2) = ul + uz 7% ‘Fk(l)i“ - ﬂ} ﬁi

F AT Fau(xt) =u +U, + U +......
0 0 . C
uxt) =>u,(xt)=>E, sin X o S

m=1 m=1 I I

I.C u(x0)= f(x). % » f(x)=ZEm~sinm|—”X
m=1

% Fourier Series

f(x) =3B, sn"%

m=1 I

2L . mrx o er A
Bm:I.[Of(x)smedx TR AW B

2L . mx
Em:IJ.0 f(x)smedx

(90) ¥ &
Solve the following partial differennal equation:
A _,0u
ct oy

ul0.t)=ullt)=0

b (v EE

ulx,0)=x (25%)

# 4] 5 85-20



so eylxt)= Xix)r(r)

- AT =T X
X

2T
= X"+ A =0+ X(0)=X(1)=0-veene @
I A | P 2
s DA=n7 n=128

X{(x)=sin(no)

-"..l

« @T(t)= e

Fulx.t)=3 B‘,,a"z”:":“ sin{n o)

B e ulx0)= i B sinfnmx) = x
n=]
A1

2 2(-1)"

= B, =2][} xsin{nm)dx = ———cosnr =—=—2—
nx ni
et s )
+ wulx.t)==> ——"""sin(nmx)
T n
n=l

— P& ¥ Hes > 4238 (Ordinary Differential Equation of the First Order )

Hes 3 fevenz & (Defintionof D.E)
Ao BIENEY S5 - BA- B %fr@ﬁ:rﬂ%—ﬁﬁi-’ﬁ v R A B AR SN o
Bl y'=cosx+2x » y' -2y’ +y=e€" H? y(X)i Aok
y' oy s R y(x) 2 # ik
& B ¥ S8k (Derivative of Function)
Sl T B £ (increment) %8R| £ vt @ ATB iR o F S0 y=F(X) > B

% 41§ 5 8c-21



o o e AY LAY
HxmEFags = =lim==
y % & dx =Y Ax—0 AX

FadnE sk W3- Ba %ﬁt(lndependentvanable)i # % % ¥ (Ordinary derivative) -
W YOS YR = ey - Y
X

FodhESd §F - BA B PR » f % B B (partial derivative)
B y(X y):>6—u—u ‘au_u o%u U~ ou _u
x ey Yo ™ v
ou du adu o%u
y(X.,.Y., 1) => — )

x oy ot oxat

oA = 258 e o (type)
FMes AR o Aty ehi g L ¥ iy o RIS AR HES ¥ ks 2 425 (Ordinary DLE)
fiss ODE
y'+4y=0
10 y+2x?-4x =0 T HIFEHY()
X2y" +axy'+bxy =0..,..a, bt@fdf’gi'r

o

FHA AR 0 g i Bl 0 RIS RS ES KA 2 4es (partid D.E) i B > PDE

B Z— % =0 & &S dk u(x.y)
o°u 6
—=4— > AFE t
Pk v e U(X,t)

Mk > 4255 efkg (order) £2= (degree) :
P 425 P BB FF Edcenri e fE 5 3% DE b i -
b1y =cosx - I¢#- = D.E
y"+3y'+y=3x =F¢- = D.E
FHR-DEP 75 EHFER2 > TR ER M EOERE S ’xfﬂfp-awDEm
Blroxy+y* =0 ... - - % OD.E

yrr+\/7+y3:0:>yﬂ+y3:_\/v

=y +y)i=y .. .-m=-=% ODE

|

X(@)%rafu:xzy.... rt = = PD.E
OX oy

2 2
U, OU ) - Ff= = PDE
ox° oy
R DEHERP DE 2 &K
EN A AL ﬁ;:l“rpéﬁ-ﬁi;m%/kgﬂ-—:’z ,jﬁ#p?%ﬁéw’ﬁf”‘DE%ﬁ{

] 822



A > 423 (Liner D.E) > & RIAE G 2282~ = 42 (Nonliner D.E) »

3y"+10y'+3y=0
B0 LDE  {X*y"+(x*-X)y +3y=0
ou ou
X(—=)+y(—)=0
(6x) Y(ay)
3yﬂ+(yr)3 =0

N.L.D.E
{yy”+3y’ =0

A = f2e0f2 (solution) :
B > A23S e LR % BN ARAR S e i o
B 1 y'=cosxehfEF y=sinx > y=sinx+3 s y=sinx-4/5- ...............
R R 7. Gl P U i s £
sk P2 T LB A y=sink+C o ¢ 5 congtant B 0 N A = R F B -
#-73 E R ¥ Beenfa > o ad f2 (general solution) e 4% dp TIE ¥ BOF G - B F L iR
v 4% i3 (particular solution)
AR ERFRIIT T A BiEE
154~ i # (Initid Condition) f§ & = I.C:
PG pER =0 7R G B2 R 2 o
Yo @R LEFF=0FLER S Voo AIV(O0)=Ve i I.Co
2.:# % i # (Boundary Condition) # & = B.C:

(90) ##
. X psin2x+cos2y)
P ——
’ cos2x
%
dv  2ysin2xy+ 2cos2x
dx cos2x
dy sin2x
= ——12 y=12
dv cos2x
—2sinlx
—r
@ Iix)=e == =cos2x
@ lix)y= [2cos2xdy =sin2x + ¢
y=tan2x + csecly
(90) # 4+

]

3
' -2y=x"¢g"

# 1] 8523



@lx)y=1x* xe"dc=e"+c

2 x 2
S V=X8é 40X

(90 )

P2y e 2y =2¢"cos X
iz
D m*-2m+2=0 Ssm=I1xi
Ly =€ (g cosx+ oy siny)

» v yp=x(dcosxy+ Bsinx) e’
toee s 420, B=1

¥, =xsinx-e

@y=y,+y,=e"(c osx+gsiny)+xsinxy-e”

| |
2e" cosx =

¥, = — —
P D*2D+2 (D-1)" +1

I :
2e'—cosxy=xe’ sinxy

(90)

(D-2)x 3_.-_zu’“----O

x+(D-4)y= e 3
. 2 |
,\[II] -—: »_r[ll]_T

& ] 24



{D 2 3 =] Ft”’]
1 D=4 ¥ | ze*
= =Cramer Rule
D2 3 D—-2 2%
1 D4 ¥ 1 Ie™
(0* ap15) oo
(D - 1D -5}y =2

¥ =1C e’ 4 (‘:'-'N

« o §2)s = =

e (D4 e

. ("Iy’ ¥ (")e:’ 3{’:’ Ll
= 3
’ >
x(0)=—— [
o e ] 3 =18 Z0-
! 1 |, =1
»O)=—= s
- S
I"'“] e - =e
- e -
| vy = e - e
3

54 5 8-25



